SHOCK ABSORBER SERIES
43 OHEHAH xa=x

INDEX

43 ojEAH Q|

HU JIIII

T 724

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

724

Ol RAE 725

730

/N Z=o| [A2st] mofl 2=

(gi1)—P.579

rorEAel

723

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRPMO

PCRO

PRT

PSB
PSL
PSAR

PVBA-2100

Al

HhIA2]

4 A%

PEL L

oot 32/

CHM

TIRHPR

gl

2=

o]




PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

KSM

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRO

PRT

PSB
PSL
PSAR

PVBA-2100

Aaicy
Aiife)

LAES Y]

FELLE

oot 32/

43 oOjEHAH

PDSC / PDFC

® WS AiZtol ZEHAL SHoIAX| 47
YAl 23 o= AselLic),

® S 23 ojHAHo| EXoE FISA

EH| Z=7kS0] o5t WA Holni
B2 S7IPIE ZHEO| USLIC

® A2|x¥ Clrst PMOR A HolME &4 A
2uich,

_..
\J

olr
]

k

ol =
12}

oo

XH
S

B35

PDSC — 0806 — 1 — []

AERT
Tube O.D. 24 At
(mm) 27190 1 B
ZH HS
Y etg

PDSC : 2&7ts
PDFC : 2% E7}5

43 OEAH L=
1 'HIGH Et]
2 1 AREE B
3 :LOW EfY

Desh pots(UX{IHI), TPAHE! AT,
AR M} AT OHEAHO| SZ4 E4H|w

oAT 43 OHEAME AT Dash pots(HX|HH ),
oot = NRME 22 O ASHX|QL HlnE

7, HMazo| M2 ChELC

=
=l g 4 Yad

G He o2 M SIS Qs
H|mst 21 QU&LICE

Agig 24
dash pots(H x|t IH)

A
43
OHE A H

2|
=

I
PU,

oo
H

724

it
+8

43 Aol S Ha|

SE AT AT OEAH

A2l=E of2 O2in 22 oiza
TZE HSLIth 4
- L i

£7{0| A2 5, DAE == ¥

Z2ZCE A3 IEAHE :

230l golede K3 |, ! e
2 MMat7| sl SR ! o2
(Accumulator)2 LT ersxtx) ‘ 25
Ewiz o A uhet ‘ -
Edst 37t 22|mAo| QamA | mAE
Afol=of sl FE =

of e My AEmZ 2EB : .
FZHEQH UMEA RXIE  on xmy ===
L|C} Qa[mA ot o3|
N LERC!

11Xt &0 =2 O|AT AF

OHEABE SHIE Hegn et
=85 I L, !

AEZ3 YoM Yt AZS CHS Al0|2
2 Qs MAES fafol 2x|2 UoidLct

1A Al Wel TS MLt 52 odX| &+
2. SAZ HAHA =t 2gEd HS

3. 7IAES 7i&at diky Soh

4. 7|1A+E B7tet olZE MulA HdES £
5 ME 82 &



AQ¥
B
0 e oy | A
a4l ASER 85| ossis soiae BheT | Meesue
(mm) ) (kg) (m/s) Nm) ()
PDSC—0806—1 6 | 18 | 09-56 | 20 | 2400 | —10-+70
PDSC—0806—2 6 | 18 | 2510 | 12 | 2400 | —10~%70
PDSC—0806-3 6 | 18 | 56~225| 08 | 2400 | —10~+70
PDSC—1008—1 8 | 32 | 0944 | 26 | 5760 | —10~+70
PDSC—1008—2 8 | 32 | 2810 | 15 | 5760 | —10~+70
PDSC—1008-3 8 | 32 | 10~40 | 08 | 5760 | —10~+70
PDSC—1210—1 10 | 6 | 18~12 | 26 | 10,800 | —10~+70
PDSC—1210-2 | 10 | 6 | 53~187| 15 | 10,800 | —10~+70
PDSC—1210-3 | 10 | 6 12~75 | 08 | 10,800 | —10~+70
PDSC—1412-1 12 | 16 | 4732 | 26 | 28800 | —10~+70
PDSC—1412-2 12 | 16 14~50 | 15 | 28800 | —10~+70
PDSC—1412-3 | 12 | 16 56-200 | 08 | 28,800 | —10~+70
PDSC—1415-1 15 | 20 | 59-278| 26 | 36000 | —10~+70
PDSC—1415-2 | 15 | 20 | 17.8~625]| 15 | 36,000 | —10~+70
PDSC—1415-3 | 15 | 20 |625-250 | 08 | 36,000 | —10~+70
PDSC—1425—1 25 | 28 | 46-25 | 35 | 58800 | —10~470
PDSC—1425—2 | 25 | 28 14~875| 20 | 58800 | —10-+70
PDSC—1425-3 | 25 | 28 25-350 | 15 | 58800 | —10~470
X|E (mm)
AHRGE N 78 o|f=t AjQt
SZUHEH SZHHH
4’L? LIAF AL J - LIAF At
o o )
- S | — G
T
© —‘—
—/
E AE23 F B AE23 F B
A G
Al LA} Afo]= A(riﬁ)ﬂ A | B | ¢ b | E| F G H 1 ?’fﬁ
PDSC—0806 MBx1.0 6 | 55 | 5 65 | 28 | 85] 335 | — | 0 3 | 12
PDSC—-0806—N M8x1.0 6 — 5 — 2.8 — 8315! 445 1 3 1
PDSC—1008 M10%1.0 8 | 62 | 5 85 | 3 85| 405 | — | 127 | 3 | 20
PDSC—1008-N | M10x1.0 8 | — |5 — 3 | — | 405 | 535 127 | 3 | 19
PDSC—1210 M12x1.0 10 | 72 | 45 | 105 | 3 95| 48 — [ 14 4 | 36
PDSC—1210-N M12x1.0 0 | — | 45| — |3 | — |48 | 25| 14 4 [ 2
PDSC—1412 M14x15 12 | 27| 8 | 122 | 35 | 134 593 | — | 19 6 | 66
PDSC—1412-N M14%15 12 8 35 503 | 793 | 19 6 | 63
PDSC—1415 M14x10/15 | 15 | 1034 | 8 | 122 | 35 | 134 | 67 — [ 19 6 | 79
PDSC—1415-N M14x10/15 | 15 | — | 8 — 35 | — |67 | 90 | 19 6 | 76
PDSC—1425 M14x10/15 | 25 | 1334 | 8 | 122 | 35 | 134 | 87 — [ 19 6 | 90
PDSC-1425-N M14x1.0/1.5 25 = 8 = 85 = 87 120 19 6 86

725

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Aoy
el

A AR

PEL L

oot 32/

CHM



PCSF

Atk
PO |
PCMA
] Z|cH S| ] Z|ch A2
PCMB _ A ALz S Z| Aoy S
POMER 344 2521 e | saslm |szas| FUSH ) e
(mm) (Nm) (kg) (m/s) (Nm) (c)
PCMI1 PDSC—2020—1 20 35 6.8 ~ 27 32 42,000 | —10~+70
PDSC-2020-2 | 20 35 | 175~70 20 | 42,000 | —10~+70
Kem PDSC—2020-3 | 20 35 | 486~777 | 12 | 42000 | —10~+70
PDSC-2030-1 | 30 46 9-~36 32 | 55200 | —10~+70
Kems PDSC-2030-2 | 30 46 23~92 20 | 55200 | —10~+70
PDSC-2030-3 | 30 46 64~575 | 12 | 55200 | —10~+70
PCMI PDSC—2050-1 | 50 62 | 101~124 | 35 | 63,240 | —10~+70
oonon PDSC-2050-2 | 50 62 | 183-~253 | 26 | 63,240 | —10~+70
PaMOG PDSC-2050-3 | 50 62 55~496 | 15 | 63,240 | —10~+70
PCCG
PCCN
= | A
kM | K| (mm)
KSL
PCBOO
ARHE
PCOA-AH | LEAL AfO|= SZHH
PCQVL g
. i
PCQI2 J_
PTA
PAS E AE23 F B
A
PCl
PCKB
PCKC
PCRPLO x
N 3 o|s=} Ars
PCRPMO [L LEAF AFO|= S2hHH
PCRO o
S
: 7]
PRT ‘ 1]
X
PSAR AEZRT F B
G
PVBA-2100
Azl
Azl
_ =af
A% SHAl LIAF AO|= A(fﬁ)ﬂ A B c D E F G LI
ey PDSC—2020 M20x15 | 20 | 130 9 | 178 | 5 16 85 — 26 | 8 | 200
PDSC—2020-N | M20x15 | 20 = 9 — 5 = 85 14 | 26 | 8 | 196
ol 2201 PDSC—2030 M20x15 | 30 | 158 9 | 178 | 5 16 | 103 — 26 | 8 | 221
PDSC—2050 M20x15 | 50 | 2225 | 9 | 178 | 5 16 | 1475 | — 26 | 8 | 293
CHM
R
HEtipE
LR
sH0p7]

726




PCSF
At
e | © 5"
= = PCMA
Z|
e |2m2a| gy | o | mm | JHHL | as
8258 | ozo1x |zsgac |BTSH
<7 (mm) | /lcycle Trgk°|3 37?:7?\5 /1hr 2= PCMB
(Nm) (kg) (m/s) (Nm) (c) PCMBR
PDSC—2525-1 | 25 78 15~ 69 32 70,200 [ —10~+70
PDSC—2525-2 | 25 78 39 ~433 2.0 70,200 | —10~+70 PCMJ1
PDSC—2525-3 | 25 78 | 108~1733 | 1.2 70,200 | —10~+70
PDSC—2540-1 | 40 122 20~108 35 87,840 | —10~+70 KCMmJ
PDSC—2540-2 | 40 122 50 ~ 381 22 87,840 | —10~+70
PDSC—2540-3 | 40 122 | 244~1991| 1.0 87,840 | —10~+70 KcmB
PDSC—2550-1 | 50 140 20 ~ 124 3.7 [ 100,800 | —10~+70
PDSC-2550-2 [ 50 140 48 ~ 438 24 |100,800 | —10~+70 PCMI
PDSC—2550-3 | 50 140 | 194~2286| 1.2 | 100,800 | —10~+70
PDSC-2580-1 | 80 198 | 24.7~99 4 118,800 | —10~+70 gmg@
PDSC—2580-2 | 80 198 44 ~ 396 3.0 | 118,800 | —10~+70
PDSC—2580-3 | 80 198 | 176~1584 | 1.5 | 118,800 | —10~+70 PCCG
PDSC—2725-1 | 25 78 15 ~ 69 32 70,200 | —10~+70 PCCN
PDSC—2725-2 | 25 78 39 ~ 433 2.0 70,200 | —10~+70
PDSC—2725-3 | 25 78 | 108~1733| 12 70,200 | —10~+70 KSM
PDSC-3660-1 | 60 260 57 ~ 231 3.0 [ 124,800 | —10~+70
PDSC-3660-2 | 60 260 | 130~813 2.0 [ 124,800 | —10~+70 KSL
PDSC—-3660-3 | 60 260 | 520~3250 | 1.0 [ 124,800 | —10~+70
PCBOO
PCOA-AH
= A
Xl—.—E (mm) PCQVL
PCQ2
PDSC—-2525 PDSC—-2540 -
PDSC—-2525 PDSC-3660 PAS
PDSC-2725 o LA AfOI |2THEH o LiAp Ajojx | SZrHEH
o 1 /7 o I e
© Rl
— e == PCKC
% B e—=d A py oo —1-H %l B e s s e, = -
—t — o —
] T PCRPLO
E| AE23 ! F !B E AERT F ‘ B
A A ! PCRPVO
PCRO
N Z§ |z} AfS PDSC-3660 Lt Aol PRT
| LIA} AtO]= SAHHH
= PSB
%‘ PSL
PSAR
F PVBA-2100
AEZT F ‘B
| }
G 21y
AHKz2|
4 A2
= =a2f
54| LiabAbolx (2523 A | B|c|D|E| F |G| H| 1 |3
(mm) (9) ey
PDSC-2525 M25%1.5/2.0 | 25 | 152.6 | 10| 23 | 8 [ 166|101 | — | 32 | 10 | 341
PDSC—2525-N | M25x1.5/2.0 | 25 — [ 10] — [ 8] — 101 [136] 32| 10 | 336 0022
PDSC-2540 M25x1.5/2.0 | 40 [211 10 23] 8[34 |127 | — [32] 10 | 430
PDSC—2550 M25x1.5/2.0 | 50 [2266| 1023 | 8 [166[150 | — [32] 10 [ 430 CHM
PDSC—2580 M25x1.5/2.0 | 80 [333.6|137] 23 | 8 |16.6]100 32 ] 10 | 578
PDSC-2725 M27x30/15| 25 [ 1526 ] 10] 23 | 8 [145]101 32 [ 10 | 335 294AR
PDSC—2725-N [ M27x3.0/15| 25 — [ 10] — [ 8] — 101 [136]32] 10 | 330
PDSC—3660 M 36x1.5 60 | 247 11] 36 | 10 [225[153.5] — [ 46 [ 15 [ 1074 o
HE(%)
opz7|
727



PCBOD | ] /

PCSF

ArY
PO | D
PCMA
B3] = - E3] 2
PCMB ol Z|cH i | = At
S siAl AERT | saLa i P s 5 s 25349_'
(mm) | floydle | TS Sy /1hr =10
(Nm) 4 (Nm)
PCMJ PDFC—1410 10 15 | 29~120 3.2 27,000 | —10~+70
PDFC—2016 16 28 | 54-~224 32 33,600 | —10~+70
Kem PDFC-2020 20 35 | 6.8~280 32 42,000 | —10~+70
PDFC-2525 25 78 15 ~ 624 32 70,200 | —10~+70
Kems PDFC—-2550 50 140 27~1,120| 32 | 100,800 | —10~+70
oo PDFC—2725 25 78 15 ~ 624 32 70,200 | —10~+70
PCMOB
PCMOC

=1 A
pege R (mm)

D
KSM

KSL ARCEE

[=]
N ©
e 9 =4 - 1
PCQUL
PCQI2 E F 1 B
A
PTA
PAS
PCl
PCKB -
peKe N 7§ |2k AfQt ! LA AfOIS S2AchHH
PCRPLO DL
g -
PCRPV FE —
PCRO
AERT F B
PRT A
PSB
PSL
PSAR
PYBA-2100 _ AE2S =a
Al LIAL AfO|= == =
3 fAL AfO] ) A B c D E F H I ©
S PDFC-1410 M14x1.0/1.5 10 | 1019 | 115 | 122 | 35 | 134 | 67 | 19 | 6 | 81
PDFC-1410-N M 14%1.0/1.5 10 885 | 115 | — | 35 | — 67 19 6 78
A% PDFC-2016 M20x1.5 16 | 132 [ 15 | 178 [ 5 16 85 26 8 | 218
PDFC—2016—-N M20x1.5 16 116 15 5 85 26 8 214
S0 PDFC—-2020 M20x1.5 20 [ 136 |15 | 178 | 5 16 85 26 8 | 219
PDFC-2020-N M20%1.5 20 [ 120 | 15 =[5 = 85 26 8 | 215
] PDFC-2525 M25x1.5/2.0 25 | 1581 | 155 | 23 8 16.6 | 101 32 | 10 | 361
PDFC-2525-N M25x1.5/2.0 25 [ 1415|155 | — | 8 — [ 101 32 | 10 356
CHM PDFC-2550 M 25%1.5/2.0 50 | 2321 ] 155 | 23 8 16.6 | 150 32 | 10 | 470
PDFC-2725 M 27%1.5/3.0 25 | 1581 | 155 | 23 8 16.6 | 101 32 6.5 | 355
o PDFC-2725-N M27x1.5/3.0 25 | 1415155 | — [ 8 — [ 101 32 6.5 | 350
L3R
B e
RE(#)
o]

728



) P - T Ay | AW ae
En (mm) 71_(‘3—VC(’)|9 RE5E | BASE .:._/'1_&)’ | ==
e ko) @S | ()
PDFC-2540 40 122 23.8~976 3.2 87,840 | —10~+70
PDFC-3625 25 110 21~ 880 3.2 52,800 | —10~+70
PDFC-3650 50 220 43 ~1,760 3.2 105,600 | —10~+70

X+ (mm)

PDFC-2540

A
PDFC—-3625
- | o
PDFC 3650 *’_r LA} AfOI 2t H
o
3 _
e === e . -
E AERT G F ‘ B
: }
A
- AERS e
=0 LEAL AtO|= A B c D E F G H 1
=5 FAL AtO] () ©
PDFC-2540 M25x15/20| 40 2165 | 155 | 23 8 | 34 127 32 | 10 460
PDFC-3625 M36x1.5 25 186 18 36 | 10 | 225 | 1065 | 14 46 | 15 974
PDFC—3650 M 36% 1.5 50 248 18 36 | 10 [ 225 [ 138 195 | 46 | 15 | 1144

729

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Aoy
el

A%

PEL L

oot 32/

CHM



PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

KSM

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRO

PRT

PSB
PSL
PSAR

PVBA-2100

Azl
Azl

LAES Y]

A30jay

oot 32/

AEH LE S& (o)

VvV —=—
= N &;“
- Tl —
B — | w HH-HT—H
S L] )
Az sAgwe s
AED HE Z2HY
STC-08 STC-20
H27ls 43 oA MBX1.0 MBIS AZ oA M20x 1.5
PDSC-0806 PDSC-2020
PDSC-2050
PDFC-2016
PDFC-2020
STC-10 STC-25
HEIKs 43 oA M10x 1.0 NEIKS A oA M25x 1.5
PDSC-1008 PDSC-2525 e — AN
PDFC-2525 s ] )
.46 32
STC-12 STC-25L
xRIIs AT oA M12x1.0 M2 A3 ojmaH M25x 1.5
PDSC-1210 PDSC-2540 o - R
PDSC-2550 3 S ER\SY/L
PDSC-2580 - f
PDFC-2540 @, 32
PDFC-2550
STC-14 STC-36
=H2Ils A3 0fEAH M14x15 (1.0 B2l AT ojmaH M36x 1.5
PDSC-1412 . -
PDSC-1415 PDSC-3660 1
PDFC-1410 PDFC-3625 LL;
PDFC-3650

730




